>

CO2

H'J \nﬁwmmn-

(S1E-95 5 S'15 Ll S
3 SoEENBUET.

xwmwmﬁ*mrﬁaagwtm.lcua
HURSTREL., ERKCARIZEST DR
B TUELE. 38, KERKpERERTS
EHEFERENEY. MESKLECEY, X
S GEEEEL Y, REROURERUR
<oEHTE. 5. ERROBREZoTING
HNBEcRI T S0, EREFRCESEN
kEkEgoTUED.

FUNDAS S0l AL TLEY,
SNERTHEY SERS KERXPCEENS
HHHo-BIREL TERT SR UND ST
2. ShETolESETSKEKOKELEE
EFTLEY. EEFNAEC LY, —HEd
Egbﬁ$ﬂt!ﬂm®m£wlﬂTtﬂjt
L F

MENCHL TSRS (LShTUEY,

HEHGERLEEA > TVETOT. B
BmoHLTE+acRsTE. 252, 7Y
ThRaMuTOLEHLTER S RENE
BNENTUVSESOT, MESKNETE,
EECESHFRESOTUVEY.

EXtr8sn—-SEF 20—
FELELTHRLTLET.

NOx

SOx

LTA. BERHE. 2354, 5

12

201872 kWh

» ?]'Cﬁ-‘r!i

1029 54
16
9

L
=R

O



0

24

1 60

16

96

39

2 00




Alihke « KEEE:HE ﬁ

KEEEEHE CEICEDLEHE)
FEIKKEIKDIKEBIEE

BB KEEEEE
2IKIB COKEIRE - 1B

KRKEERSTE
B « 5B IIKRDIKEEELR

KERHEFE

iR,

i
$ICBRBICKY BHE j D >

BHOBRLANS |

KiRmhKE » KEEIBETBDWERK NiRmhKB « KEEEBSTBOER
[ ]
0
VS
| —
[V
N

-18
12
20 \\lllll
48 s \ R s a—
1 ] I
\—“M—’Hﬁ
-30
10 20 30 40 50 60

O



ERBCBADREZTRITD

5N HIKIES

M15K1 DRIBICKD

= ERIE

BN SORERER
TERDFEBFRICKDAENR

E=rUANUYRTA

ERMEOFEMRZLINL

W w L= L

CO2

SN ER R BEROREC L AR
63 21
CO2
NOXx SOXx

CO2 NOx SOx




150
10 250 22 23
2 53
16
2
HNFEEF FEEAEE
[Fkinm] [Fkiih]
2 500 600
4 500
2000 F e T ‘ﬁ//l 4400
2078 2,01
1,297 4 300
1500 4 200
TS T 4 100
—e—— FMBXHESE
1,000 : 0
FRIZZEE  FRAEE  FRSEE

FAE ,
=

B1F
e l anx
e I ! ES

B2F \J

KDFEEE j—’“Mhi
) 2k ——
| B3F

|, L y/

0)



&)

42

[FHah]
000

80000 |
50000 | 57,704 54,517
40000
20000 |
0000 |
10000 |

52,817

ERieER ERZAER

m

15

15

ERiesERE

m




10
12

14

54

[e6}
i

16

14

.

11



(x)

13

15

14

35

19

13

4.9%

8.4%

14



10

1400

20 12

23

11

11

19

14001

14

12

21

25

25

-803%

6.62%

-229 &%

-490 4%

21

550

98.78%

100

1000%

50

6 85%

13



Water

25

Water
Water

Water

Water

Water

25

25

70

1,2 00

1198

18

11




(KWh/ )

055

050

04 5 -

04 0 -

0.47)

03 5—
21

(g CO2/ )

22

23

COo2

24

240

230

220

210

200

190
180

170
160
150
140
130
120

23

24

CO2
353 345
320
19.2 202
3.6 g
24 29
24 25
L] a
1 Cco2
COo2
21 m?
co2 230 g CO2/m’
o2
58 kg CO2
/10 00




